Algebra 2 Trig IB Fundamental Skills Unit Test Review Name:

Simplify each completely.

1.)-9n% +3n+ 2

2 1
y2+1 o y3+y

1
4) =+

Solve each. Circle your final answer(s).

10.) -9m?+3m+2=0

12.) x —3(2x +3) =8 — 5x

14) (x+2)?—x2=4(x+1)

16) (x—5)z =8

18) 3|lx—2|—10 = 11

20) V3x—2—-vV10—x =2

X 2 1
—+-=1+
x“—4 3 3x+6

22)

z2-z-6  z+3 5
2.) z2+6z+9 * 24 3) 6- t+3
xX—4 V3+1
5.) —(%_%) 6.) o2
8.) 3/16a’bc® -%/32a’bc’ 9.) 2450 -3/54 +/32

11.) 25x2—10x+1=0

2 1 2
13) coes " aatas

15) 2b2—b—1=0

17) 3h(h — 1)z + 2(h — 1) = 0

19) (x—6)2 —(x —2)? =-3(x—4)

21) 4x2 + 16x = 17

23) x3—3x2—x+3=0



